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Trufanov, D - 
Sollano, E (2006)       [D91]
UOP-Exemplars, 14.10.1999

1.d4 Nf6 2.c4 g6 3.Nc3 Bg7
4.Bg5 c6 5.Nf3 d5 6.e3 0–0
7.Be2 Nbd7 8.Qb3 h6 9.Bf4 
XIIIIIIIIY
9r+lwq-trk+0
9zpp+nzppvl-0
9-+p+-snpzp0
9+-+p+-+-0
9-+PzP-vL-+0
9+QsN-zPN+-0
9PzP-+LzPPzP0
9tR-+-mK-+R0
xiiiiiiiiy

9...e6 10.h3 dxc4 11.Bxc4
Nb6 12.Bd3 Nbd5 13.Bh2 
XIIIIIIIIY
9r+lwq-trk+0
9zpp+-+pvl-0
9-+p+psnpzp0
9+-+n+-+-0
9-+-zP-+-+0
9+QsNLzPN+P0
9PzP-+-zPPvL0
9tR-+-mK-+R0
xiiiiiiiiy

13...Nxc3 14.Qxc3 Nd5
15.Qd2 Qe7 
XIIIIIIIIY
9r+l+-trk+0
9zpp+-wqpvl-0
9-+p+p+pzp0
9+-+n+-+-0
9-+-zP-+-+0
9+-+LzPN+P0
9PzP-wQ-zPPvL0
9tR-+-mK-+R0
xiiiiiiiiy

16.Ne5 Rd8 17.a3 Nf6
18.Rc1 Nd7 

XIIIIIIIIY
9r+ltr-+k+0
9zpp+nwqpvl-0
9-+p+p+pzp0
9+-+-sN-+-0
9-+-zP-+-+0
9zP-+LzP-+P0
9-zP-wQ-zPPvL0
9+-tR-mK-+R0
xiiiiiiiiy

19.Nxg6?! Trying to crack the
defense, but his remaining
pieces aren't active. 19...fxg6
20.Bxg6 

XIIIIIIIIY
9r+ltr-+k+0
9zpp+nwq-vl-0
9-+p+p+Lzp0
9+-+-+-+-0
9-+-zP-+-+0
9zP-+-zP-+P0
9-zP-wQ-zPPvL0
9+-tR-mK-+R0
xiiiiiiiiy

20...e5! opening lines to get
extra piece active 21.0–0 Nf8
22.Bb1 Qg5 23.Ba2+ Kh8
24.Bg3 

XIIIIIIIIY
9r+ltr-sn-mk0
9zpp+-+-vl-0
9-+p+-+-zp0
9+-+-zp-wq-0
9-+-zP-+-+0
9zP-+-zP-vLP0
9LzP-wQ-zPP+0
9+-tR-+RmK-0
xiiiiiiiiy

24...exd4 25.Bf4 Qg6 26.Kh2
Bf5 27.g4 Be6 28.Bb1 Qf7
29.e4 

XIIIIIIIIY
9r+-tr-sn-mk0
9zpp+-+qvl-0
9-+p+l+-zp0
9+-+-+-+-0
9-+-zpPvLP+0
9zP-+-+-+P0
9-zP-wQ-zP-mK0
9+LtR-+R+-0
xiiiiiiiiy

29...Qg6 

[29...Ng6 sending Knight to
f3: Ng6-e5-f3, any trades are
in Black's favor. But 30.Bxh6
Bxh6 31.Qxh6+ Qh7
32.Qxh7+ Kxh7 33.f4 

XIIIIIIIIY
9r+-tr-+-+0
9zpp+-+-+k0
9-+p+l+n+0
9+-+-+-+-0
9-+-zpPzPP+0
9zP-+-+-+P0
9-zP-+-+-mK0
9+LtR-+R+-0
xiiiiiiiiy

Black has some Pawns to
fight off] 

30.e5 d3 31.Rc3 
XIIIIIIIIY
9r+-tr-sn-mk0
9zpp+-+-vl-0
9-+p+l+qzp0
9+-+-zP-+-0
9-+-+-vLP+0
9zP-tRp+-+P0
9-zP-wQ-zP-mK0
9+L+-+R+-0
xiiiiiiiiy

31...Qf7 32.Rxd3 Rxd3
33.Bxd3 Rd8 
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XIIIIIIIIY
9-+-tr-sn-mk0
9zpp+-+qvl-0
9-+p+l+-zp0
9+-+-zP-+-0
9-+-+-vLP+0
9zP-+L+-+P0
9-zP-wQ-zP-mK0
9+-+-+R+-0
xiiiiiiiiy

34.Qe3 

[34.Bxh6 An attempt at
stealing another Pawn, White
dodges the pin on Bd3 with
Queen checks.But it doesn't
quite work! 
A) 34...Qd7 35.Bxg7+ Qxg7
(35...Kxg7 36.Qg5+) 36.Qe3;
B) 34...Bc4 35.Bxc4!
attacking Black's Queen in
return!; 
C) 34...Bxh6 35.Qxh6+

Black has two other options:
D) 34...Bxe5+ gets the Pawn
back 35.f4; 
E) 34...Rxd3! as in game
35.Bxg7+ Kxg7 (35...Qxg7?
36.Qxd3 Qxe5+ 37.f4)
36.Qxd3 Bc4; ]

 34...Rxd3! 35.Qxd3 
XIIIIIIIIY
9-+-+-sn-mk0
9zpp+-+qvl-0
9-+p+l+-zp0
9+-+-zP-+-0
9-+-+-vLP+0
9zP-+Q+-+P0
9-zP-+-zP-mK0
9+-+-+R+-0
xiiiiiiiiy

35...Bc4 [or maybe
35...Qxf4+ 36.Qg3 (36.Kg1?
Bc4) 36...Bxe5] 36.e6 Qxe6
37.Qd1 Bxf1 38.Qxf1 

XIIIIIIIIY
9-+-+-sn-mk0
9zpp+-+-vl-0
9-+p+q+-zp0
9+-+-+-+-0
9-+-+-vLP+0
9zP-+-+-+P0
9-zP-+-zP-mK0
9+-+-+Q+-0
xiiiiiiiiy

38...Qf6 39.Bc1 Ne6 40.f4
Qd4 41.f5 

XIIIIIIIIY
9-+-+-+-mk0
9zpp+-+-vl-0
9-+p+n+-zp0
9+-+-+P+-0
9-+-wq-+P+0
9zP-+-+-+P0
9-zP-+-+-mK0
9+-vL-+Q+-0
xiiiiiiiiy

41...Be5+ 42.Kg2 Qe4+
43.Qf3? 

XIIIIIIIIY
9-+-+-+-mk0
9zpp+-+-+-0
9-+p+n+-zp0
9+-+-vlP+-0
9-+-+q+P+0
9zP-+-+Q+P0
9-zP-+-+K+0
9+-vL-+-+-0
xiiiiiiiiy

43...Qc2+ 44.Qf2 Nf4+
[44...Qxc1] 45.Bxf4 Qxf2+
46.Kxf2 Bxf4 47.Kf3 Be5
48.b3 Kg7 49.a4 a5 50.Ke3
Kf6 51.Ke4 

XIIIIIIIIY
9-+-+-+-+0
9+p+-+-+-0
9-+p+-mk-zp0
9zp-+-vlP+-0
9P+-+K+P+0
9+P+-+-+P0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

51...Bd6 0–1

(Satterlee, D (1558) -
Mikulecky, B (1470) [A03]
Case-Pawns, 07.10.1999

1.f4 d5 2.e3 Nf6 3.Nf3 Nc6
4.Bb5 Bd7 5.Ne5 Nxe5
6.fxe5 Ne4 7.Bxd7+ Qxd7
8.d3 Nc5 9.0–0 
XIIIIIIIIY
9r+-+kvl-tr0
9zppzpqzppzpp0
9-+-+-+-+0
9+-snpzP-+-0
9-+-+-+-+0
9+-+PzP-+-0
9PzPP+-+PzP0
9tRNvLQ+RmK-0
xiiiiiiiiy

9...d4 10.Qf3 e6 11.b4 
XIIIIIIIIY
9r+-+kvl-tr0
9zppzpq+pzpp0
9-+-+p+-+0
9+-sn-zP-+-0
9-zP-zp-+-+0
9+-+PzPQ+-0
9P+P+-+PzP0
9tRNvL-+RmK-0
xiiiiiiiiy

11...Na4 12.Qxb7 Rd8
13.Na3 c6 14.Qxd7+ Rxd7
15.exd4 Rxd4 16.Bd2 Bxb4
17.Bxb4 Rxb4 



The Chicago Chess Player             January 2000
XIIIIIIIIY
9-+-+k+-tr0
9zp-+-+pzpp0
9-+p+p+-+0
9+-+-zP-+-0
9ntr-+-+-+0
9sN-+P+-+-0
9P+P+-+PzP0
9tR-+-+RmK-0
xiiiiiiiiy

Material is even, but White to
move. 18.Nc4
[18.Rab1 and the Rook takes
over b-file, probing
Queenside weaknesses.]
18...0–0
[18...Ke7 keeps the King in
the action. 19.Nd6 f6]
19.Rf3 Nb6 20.c3 Rb5 21.a4
Rb3 
XIIIIIIIIY
9-+-+-trk+0
9zp-+-+pzpp0
9-snp+p+-+0
9+-+-zP-+-0
9P+N+-+-+0
9+rzPP+R+-0
9-+-+-+PzP0
9tR-+-+-mK-0
xiiiiiiiiy

White got a couple of free
Pawn moves 22.Nxb6 axb6
23.d4 c5 24.dxc5 bxc5 25.a5 
XIIIIIIIIY
9-+-+-trk+0
9+-+-+pzpp0
9-+-+p+-+0
9zP-zp-zP-+-0
9-+-+-+-+0
9+rzP-+R+-0
9-+-+-+PzP0
9tR-+-+-mK-0
xiiiiiiiiy

This Pawn isn't scary yet.
25...Ra8 26.a6 Rb6 27.Rd3 

XIIIIIIIIY
9r+-+-+k+0
9+-+-+pzpp0
9Ptr-+p+-+0
9+-zp-zP-+-0
9-+-+-+-+0
9+-zPR+-+-0
9-+-+-+PzP0
9tR-+-+-mK-0
xiiiiiiiiy

27...h6 

[27...Rbxa6?? 28.Rxa6 Rxa6
29.Rd8#; 
27...Kf8 brings the King
toward the action] 

28.Rd6 Rxd6 29.exd6
XIIIIIIIIY
9r+-+-+k+0
9+-+-+pzp-0
9P+-zPp+-zp0
9+-zp-+-+-0
9-+-+-+-+0
9+-zP-+-+-0
9-+-+-+PzP0
9tR-+-+-mK-0
xiiiiiiiiy

I thought Black wins a Pawn
here. 29...Kf8 30.a7 Ke8
31.Ra6 Kd7 32.Kf2 g5
33.Ke3 f5 34.Kd3 

XIIIIIIIIY
9r+-+-+-+0
9zP-+k+-+-0
9R+-zPp+-zp0
9+-zp-+pzp-0
9-+-+-+-+0
9+-zPK+-+-0
9-+-+-+PzP0
9+-+-+-+-0
xiiiiiiiiy

34...e5 35.Kc4 e4 36.Kxc5 e3 

XIIIIIIIIY
9r+-+-+-+0
9zP-+k+-+-0
9R+-zP-+-zp0
9+-mK-+pzp-0
9-+-+-+-+0
9+-zP-zp-+-0
9-+-+-+PzP0
9+-+-+-+-0
xiiiiiiiiy

37.Kd5 

[37.Kb6? e2 (37...Kxd6??
38.Kb7+) 38.Ra1 Re8 39.Kb7 

XIIIIIIIIY
9-+-+r+-+0
9zPK+k+-+-0
9-+-zP-+-zp0
9+-+-+pzp-0
9-+-+-+-+0
9+-zP-+-+-0
9-+-+p+PzP0
9tR-+-+-+-0
xiiiiiiiiy

39...e1Q 40.Rxe1 Rxe1
41.a8Q Rb1+ Black wins
Queen, and White's King is
too far away. 42.Ka7 Ra1+
43.Kb8 Rxa8+ 44.Kxa8 

XIIIIIIIIY
9K+-+-+-+0
9+-+k+-+-0
9-+-zP-+-zp0
9+-+-+pzp-0
9-+-+-+-+0
9+-zP-+-+-0
9-+-+-+PzP0
9+-+-+-+-0
xiiiiiiiiy

44...f4! idea: g4, then f3, etc.;

From last large diagram...
37.Kd4 I believe White wins
as the King can defend
37...e2 38.Ra1 

   (See diagram next page)
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XIIIIIIIIY
9r+-+-+-+0
9zP-+k+-+-0
9-+-zP-+-zp0
9+-+-+pzp-0
9-+-mK-+-+0
9+-zP-+-+-0
9-+-+p+PzP0
9tR-+-+-+-0
xiiiiiiiiy

A) 38...f4 39.Kd3 Kxd6
(39...Re8 40.Kd2) 40.Kxe2;
B) 38...Re8 39.Kd3 and then
Kd2 wins Pe2(39.a8Q? Rxa8)

Returning to top last column:
37...e2 38.Ra1 f4 
XIIIIIIIIY
9r+-+-+-+0
9zP-+k+-+-0
9-+-zP-+-zp0
9+-+K+-zp-0
9-+-+-zp-+0
9+-zP-+-+-0
9-+-+p+PzP0
9tR-+-+-+-0
xiiiiiiiiy

39.Re1

[39.c4 g4 40.Re1 f3 41.gxf3
gxf3] 

39...Rxa7 40.Rxe2 Ra5+
41.Kd4 Kxd6 

XIIIIIIIIY
9-+-+-+-+0
9+-+-+-+-0
9-+-mk-+-zp0
9tr-+-+-zp-0
9-+-mK-zp-+0
9+-zP-+-+-0
9-+-+R+PzP0
9+-+-+-+-0
xiiiiiiiiy

42.c4 h5 43.h3 Rf5 

XIIIIIIIIY
9-+-+-+-+0
9+-+-+-+-0
9-+-mk-+-+0
9+-+-+rzpp0
9-+PmK-zp-+0
9+-+-+-+P0
9-+-+R+P+0
9+-+-+-+-0
xiiiiiiiiy

44.Re8 

[44.Ra2 f3 45.gxf3 Rxf3
46.c5+ Kc7 47.Ra7+ Kc6
48.Ra6+ Kc7 49.Rg6 Rxh3
50.Rxg5 is equal] 

44...g4 
XIIIIIIIIY
9-+-+R+-+0
9+-+-+-+-0
9-+-mk-+-+0
9+-+-+r+p0
9-+PmK-zpp+0
9+-+-+-+P0
9-+-+-+P+0
9+-+-+-+-0
xiiiiiiiiy

45.Rd8+? [45.hxg4] 45...Ke7
46.Rd5 
XIIIIIIIIY
9-+-+-+-+0
9+-+-mk-+-0
9-+-+-+-+0
9+-+R+r+p0
9-+PmK-zpp+0
9+-+-+-+P0
9-+-+-+P+0
9+-+-+-+-0
xiiiiiiiiy

46...f3! 

XIIIIIIIIY
9-+-+-+-+0
9+-+-mk-+-0
9-+-+-+-+0
9+-+R+r+p0
9-+PmK-+p+0
9+-+-+p+P0
9-+-+-+P+0
9+-+-+-+-0
xiiiiiiiiy

Black's advanced Pawns win.
[46...Rxd5+ 47.cxd5 f3
48.Ke3 fxg2 49.Kf2 gxh3 wins
as well] 
47.Rxf5 
[47.gxf3 Rxd5+ 48.cxd5 gxh3;
47.hxg4 fxg2] 
47...fxg2 48.Re5+ Kd6 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-+-0
9-+-mk-+-+0
9+-+-tR-+p0
9-+PmK-+p+0
9+-+-+-+P0
9-+-+-+p+0
9+-+-+-+-0
xiiiiiiiiy

49.Rd5+ Ke6
[49...Kc6 50.Rc5+ Kb6
51.Rb5+ similar to game]
50.Re5+ Kf6 51.Re1 gxh3 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-+-0
9-+-+-mk-+0
9+-+-+-+p0
9-+PmK-+-+0
9+-+-+-+p0
9-+-+-+p+0
9+-+-tR-+-0
xiiiiiiiiy

52.Ke3 h2 53.Kf2 h1Q 0–1
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Staples, C (1433) -
Dobrovolny, C (1787) [A20]
Fermi-Dragons, 01.11.1999

1.c4 Nf6 2.g3 e5 3.Bg2 Bc5
4.Nc3 Nc6 5.a3 a5 6.e3 0–0
7.Nge2 d6 8.0–0 h6 9.h3 Bd7
10.d4 exd4 11.exd4 Bb6
12.Kh2 Qc8 

XIIIIIIIIY
9r+q+-trk+0
9+pzpl+pzp-0
9-vlnzp-sn-zp0
9zp-+-+-+-0
9-+PzP-+-+0
9zP-sN-+-zPP0
9-zP-+NzPLmK0
9tR-vLQ+R+-0
xiiiiiiiiy

13.Be3 Ne7 14.b4 axb4
15.axb4 c6 16.Qb3 Nf5
17.Na4 Nxe3 18.fxe3 Bc7
19.Ra3 Re8 20.Rfa1 d5
21.cxd5 Nxd5 22.e4 Nb6
23.e5 

XIIIIIIIIY
9r+q+r+k+0
9+pvll+pzp-0
9-snp+-+-zp0
9+-+-zP-+-0
9NzP-zP-+-+0
9tRQ+-+-zPP0
9-+-+N+LmK0
9tR-+-+-+-0
xiiiiiiiiy

Hard to know this was the
losing move! 

23...Rxa4! 24.Rxa4 Nxa4
25.Rxa4 c5 

XIIIIIIIIY
9-+q+r+k+0
9+pvll+pzp-0
9-+-+-+-zp0
9+-zp-zP-+-0
9RzP-zP-+-+0
9+Q+-+-zPP0
9-+-+N+LmK0
9+-+-+-+-0
xiiiiiiiiy

26.Ra7

 [26.bxc5!? Bxa4 27.Qxa4 
XIIIIIIIIY
9-+q+r+k+0
9+pvl-+pzp-0
9-+-+-+-zp0
9+-zP-zP-+-0
9Q+-zP-+-+0
9+-+-+-zPP0
9-+-+N+LmK0
9+-+-+-+-0
xiiiiiiiiy

27...b6 (27...Qa8 28.Qxa8
Rxa8 29.Bxb7 Ra2 30.Bf3;
27...f6 28.Bd5+ Kf8 29.e6) 
A) 28.cxb6? Bxb6 29.Bb7
Qd8 30.Bd5 Re7 31.Qb3 Rd7
32.e6?! Rxd5 33.exf7+ Kf8
(33...Kxf7? 34.Nf4 Bxd4
35.Qxd5+; 33...Kh8?
34.Qxb6!) 34.Nf4 Rd6
35.Ne6+ Rxe6 36.Qxe6 Bxd4
Black wins; 
B) 28.c6 28...f6 29.Bd5+ Kh8
30.e6 and Black's Bishop
hasn't a lot to do] 

26...cxd4 
XIIIIIIIIY
9-+q+r+k+0
9tRpvll+pzp-0
9-+-+-+-zp0
9+-+-zP-+-0
9-zP-zp-+-+0
9+Q+-+-zPP0
9-+-+N+LmK0
9+-+-+-+-0
xiiiiiiiiy

27.Rxb7? Bxh3! White's
Bishop is overloaded 28.Qc4
Bxg2 29.e6 
[29.Rxc7?? Qh3+ 30.Kg1
Qh1+ 31.Kf2 Qf1#]
 29...Qxe6 30.Qxe6 Rxe6 
XIIIIIIIIY
9-+-+-+k+0
9+Rvl-+pzp-0
9-+-+r+-zp0
9+-+-+-+-0
9-zP-zp-+-+0
9+-+-+-zP-0
9-+-+N+lmK0
9+-+-+-+-0
xiiiiiiiiy

31.Nxd4 
[31.Rxc7 Black still wins]
31...Bxb7 0–1

Burian, D (1587) -
Nallathambi, R (1480) [C53]
Excaliburs-Kemper,
11.11.1999

1.e4 e5 2.Nf3 Nc6 3.Bc4 Bc5
4.c3 d6 5.d4 exd4 6.cxd4
Bb6 7.h3 Nf6 8.Nc3 0–0
9.Bg5 Re8 10.0–0 h6 11.Bh4
g5 

XIIIIIIIIY
9r+lwqr+k+0
9zppzp-+p+-0
9-vlnzp-sn-zp0
9+-+-+-zp-0
9-+LzPP+-vL0
9+-sN-+N+P0
9PzP-+-zPP+0
9tR-+Q+RmK-0
xiiiiiiiiy

12.Bxg5!? hxg5 13.Nxg5 
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XIIIIIIIIY
9r+lwqr+k+0
9zppzp-+p+-0
9-vlnzp-sn-+0
9+-+-+-sN-0
9-+LzPP+-+0
9+-sN-+-+P0
9PzP-+-zPP+0
9tR-+Q+RmK-0
xiiiiiiiiy

13...Be6? 

[13...d5! 14.Nxd5 Nxd5
uncovering attack on loose
Ng5 

A) 15.Nxf7 Kxf7 16.Bxd5+
Be6 

XIIIIIIIIY
9r+-wqr+-+0
9zppzp-+k+-0
9-vln+l+-+0
9+-+L+-+-0
9-+-zPP+-+0
9+-+-+-+P0
9PzP-+-zPP+0
9tR-+Q+RmK-0
xiiiiiiiiy

17.Qh5+ Ke7 18.Qh7+ Kd6;
B) 15.exd5 Qxg5 16.dxc6
Bxh3

 (16...bxc6 17.Qf3 Be6
18.Qxc6 Bxd4 

XIIIIIIIIY
9r+-+r+k+0
9zp-zp-+p+-0
9-+Q+l+-+0
9+-+-+-wq-0
9-+Lvl-+-+0
9+-+-+-+P0
9PzP-+-zPP+0
9tR-+-+RmK-0
xiiiiiiiiy

19.Qxc7? Rac8 wins Bc4)

17.Qf3 Bf5 18.cxb7 Rab8; 
C) 15.Qh5 15...Qf6 16.Qh7+
Kf8 17.Bxd5 Nxd4 

XIIIIIIIIY
9r+l+rmk-+0
9zppzp-+p+Q0
9-vl-+-wq-+0
9+-+L+-sN-0
9-+-snP+-+0
9+-+-+-+P0
9PzP-+-zPP+0
9tR-+-+RmK-0
xiiiiiiiiy

Back to top of last column...
14.d5 
XIIIIIIIIY
9r+-wqr+k+0
9zppzp-+p+-0
9-vlnzplsn-+0
9+-+P+-sN-0
9-+L+P+-+0
9+-sN-+-+P0
9PzP-+-zPP+0
9tR-+Q+RmK-0
xiiiiiiiiy

14...Nxd5 15.Nxe6 fxe6
[15...Nxc3?? 16.Qg4+]

16.exd5 Ne5 
[16...Na5 17.Bd3 exd5]

17.Bb3 
XIIIIIIIIY
9r+-wqr+k+0
9zppzp-+-+-0
9-vl-zpp+-+0
9+-+Psn-+-0
9-+-+-+-+0
9+LsN-+-+P0
9PzP-+-zPP+0
9tR-+Q+RmK-0
xiiiiiiiiy

17...c5 

[17...Qh4 slowing any White
Queen excursions] 

18.Qh5 Re7 19.dxe6 Qc8
20.Rae1 

XIIIIIIIIY
9r+q+-+k+0
9zpp+-tr-+-0
9-vl-zpP+-+0
9+-zp-sn-+Q0
9-+-+-+-+0
9+LsN-+-+P0
9PzP-+-zPP+0
9+-+-tRRmK-0
xiiiiiiiiy

20...c4 21.Bc2 Qxe6 22.Re4
Rf8 23.Rh4 Qf6 

XIIIIIIIIY
9-+-+-trk+0
9zpp+-tr-+-0
9-vl-zp-wq-+0
9+-+-sn-+Q0
9-+p+-+-tR0
9+-sN-+-+P0
9PzPL+-zPP+0
9+-+-+RmK-0
xiiiiiiiiy

Black suddenly uncovers
pressure to f2 
24.Nd5 possibly missing fork
to Rh4 
24...Bxf2+ 25.Kh1 Qxh4
26.Nxe7+ Qxe7 
XIIIIIIIIY
9-+-+-trk+0
9zpp+-wq-+-0
9-+-zp-+-+0
9+-+-sn-+Q0
9-+p+-+-+0
9+-+-+-+P0
9PzPL+-vlP+0
9+-+-+R+K0
xiiiiiiiiy

and just like that, Black's up a
piece 

27.Be4 Bc5 28.Bd5+ Kg7
29.Rc1 
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XIIIIIIIIY
9-+-+-tr-+0
9zpp+-wq-mk-0
9-+-zp-+-+0
9+-vlLsn-+Q0
9-+p+-+-+0
9+-+-+-+P0
9PzP-+-+P+0
9+-tR-+-+K0
xiiiiiiiiy

29...Rf5?? huh? 30.Qxf5 b5
31.Rc3? Nd3 

XIIIIIIIIY
9-+-+-+-+0
9zp-+-wq-mk-0
9-+-zp-+-+0
9+pvlL+Q+-0
9-+p+-+-+0
9+-tRn+-+P0
9PzP-+-+P+0
9+-+-+-+K0
xiiiiiiiiy

32.b3?? 
Oblivious to the backrank
problems
[32.Qf1 works] 
32...Qe1+ wins Rook if there's
no mate... 

33.Kh2 Bg1+ 34.Kh1 

XIIIIIIIIY
9-+-+-+-+0
9zp-+-+-mk-0
9-+-zp-+-+0
9+p+L+Q+-0
9-+p+-+-+0
9+PtRn+-+P0
9P+-+-+P+0
9+-+-wq-vlK0
xiiiiiiiiy

34...Bf2+ 35.Kh2 Bg3# 0–1

Staples, C (1433) - 
Eustace, D (1669) [A20]
Fermi-Dragons, 12.10.1999

1.c4 e5 2.g3 Nf6 3.Bg2 d5
4.cxd5 Nxd5 5.Nf3 Nc6 6.d3
Bc5 7.0–0 f6 8.a3 Be6 
XIIIIIIIIY
9r+-wqk+-tr0
9zppzp-+-zpp0
9-+n+lzp-+0
9+-vlnzp-+-0
9-+-+-+-+0
9zP-+P+NzP-0
9-zP-+PzPLzP0
9tRNvLQ+RmK-0
xiiiiiiiiy

9.b4 Bd4 10.Nxd4 Nxd4
11.Bb2 Qd7 12.Re1 0–0–0 
XIIIIIIIIY
9-+ktr-+-tr0
9zppzpq+-zpp0
9-+-+lzp-+0
9+-+nzp-+-0
9-zP-sn-+-+0
9zP-+P+-zP-0
9-vL-+PzPLzP0
9tRN+QtR-mK-0
xiiiiiiiiy

A bit risky with White's
Queenside advanced and
Bishop point homeward.

13.Nd2 Bh3 14.Bh1 h5 

XIIIIIIIIY
9-+ktr-+-tr0
9zppzpq+-zp-0
9-+-+-zp-+0
9+-+nzp-+p0
9-zP-sn-+-+0
9zP-+P+-zPl0
9-vL-sNPzP-zP0
9tR-+QtR-mKL0
xiiiiiiiiy

15.Rc1

 [15.e3 generates some free
attacking moves 15...Nc6
(15...Nf5? 16.e4; 15...Nb5?
16.a4 Nbc3 17.Qb3) 16.b5 

XIIIIIIIIY
9-+ktr-+-tr0
9zppzpq+-zp-0
9-+n+-zp-+0
9+P+nzp-+p0
9-+-+-+-+0
9zP-+PzP-zPl0
9-vL-sN-zP-zP0
9tR-+QtR-mKL0
xiiiiiiiiy

16...Nce7 (16...Na5? 17.Qa4
b6 18.Nc4 gets stuff going
good!) 17.Qa4 Kb8 I like
game continuation better!]

15...h4 16.Rc5! hxg3 
XIIIIIIIIY
9-+ktr-+-tr0
9zppzpq+-zp-0
9-+-+-zp-+0
9+-tRnzp-+-0
9-zP-sn-+-+0
9zP-+P+-zpl0
9-vL-sNPzP-zP0
9+-+QtR-mKL0
xiiiiiiiiy

Mate is in the air! 17.fxg3

 [17.Rxd5?? gxh2+ 18.Kxh2
Bf1+! 

XIIIIIIIIY
9-+ktr-+-tr0
9zppzpq+-zp-0
9-+-+-zp-+0
9+-+Rzp-+-0
9-zP-sn-+-+0
9zP-+P+-+-0
9-vL-sNPzP-mK0
9+-+QtRl+L0
xiiiiiiiiy

A) 19.Kg3 Qh3# (19...Rh3#) ;
B) 19.Kg1 19...Qg4+ 20.Kxf1
Rxh1#] 
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17...Ne3 18.Qc1 
XIIIIIIIIY
9-+ktr-+-tr0
9zppzpq+-zp-0
9-+-+-zp-+0
9+-tR-zp-+-0
9-zP-sn-+-+0
9zP-+Psn-zPl0
9-vL-sNP+-zP0
9+-wQ-tR-mKL0
xiiiiiiiiy

18...c6? provides White a
tempo and object to attack.

[18...Ne6 19.Ra5 Kb8 20.Nb3
hitting loose Ne3 20...Nf5]

19.Bxd4 exd4 20.b5 
XIIIIIIIIY
9-+ktr-+-tr0
9zpp+q+-zp-0
9-+p+-zp-+0
9+PtR-+-+-0
9-+-zp-+-+0
9zP-+Psn-zPl0
9-+-sNP+-zP0
9+-wQ-tR-mKL0
xiiiiiiiiy

This attack is looking serious
20...Be6 21.bxc6 Qf7 
XIIIIIIIIY
9-+ktr-+-tr0
9zpp+-+qzp-0
9-+P+lzp-+0
9+-tR-+-+-0
9-+-zp-+-+0
9zP-+Psn-zP-0
9-+-sNP+-zP0
9+-wQ-tR-mKL0
xiiiiiiiiy

Whites 24th move shows the
downside of this placement
22.cxb7+ Kb8 23.Ne4 

XIIIIIIIIY
9-mk-tr-+-tr0
9zpP+-+qzp-0
9-+-+lzp-+0
9+-tR-+-+-0
9-+-zpN+-+0
9zP-+Psn-zP-0
9-+-+P+-zP0
9+-wQ-tR-mKL0
xiiiiiiiiy

23...Bd5
[23...Qh5 with mate at h2, if
Rc5 wasn't attacking h5!]

24.Nd6! luring away a
backrank defender, and
attacking c8 once more!
24...Rxd6 

[24...Qh5?? 25.Rc8+ Rxc8
26.bxc8Q+ Rxc8 27.Qxc8#]

25.Bxd5 
XIIIIIIIIY
9-mk-+-+-tr0
9zpP+-+qzp-0
9-+-tr-zp-+0
9+-tRL+-+-0
9-+-zp-+-+0
9zP-+Psn-zP-0
9-+-+P+-zP0
9+-wQ-tR-mK-0
xiiiiiiiiy

hitting Queen and threatening
Rc8+ 25...Rxd5

[25...Qe8 stops mate, at cost
of Queen 26.Rc8+ Qxc8
27.bxc8Q+ Rxc8 28.Qb2+
Rb6 29.Qxd4] 

26.Rc8+ Kxb7 
[26...Rxc8 27.bxc8Q#]

27.Qc6# A solid upset win!
1–0

Walker, A (1680) - 
Sullivan, J (1928) [A04]
Northrop-Excaliburs,
21.10.1999

1.Nf3 c5 2.g3 Nc6 3.d4 cxd4
4.Nxd4 Nf6 5.Bg2 e5 6.Nxc6
bxc6 7.c4 Bc5 8.0–0 0–0
9.Nc3 
XIIIIIIIIY
9r+lwq-trk+0
9zp-+p+pzpp0
9-+p+-sn-+0
9+-vl-zp-+-0
9-+P+-+-+0
9+-sN-+-zP-0
9PzP-+PzPLzP0
9tR-vLQ+RmK-0
xiiiiiiiiy

This would be a standard
position of the Gruenfeld (with
colors reversed) if Black could
get in the normal -d5. 
9...a5 White can continue
Gruenfeld strategy: Bg5,
Qd7/d6, Rfd1 with pressure
down d-file. 10.b3 

[10.Bg5 h6 (10.Na4 banishes
Black's best piece)
11.Ne4!? 

XIIIIIIIIY
9r+lwq-trk+0
9+-+p+pzp-0
9-+p+-sn-zp0
9zp-vl-zp-vL-0
9-+P+N+-+0
9+-+-+-zP-0
9PzP-+PzPLzP0
9tR-+Q+RmK-0
xiiiiiiiiy

(11.Bxf6 Qxf6 12.Ne4 Qe7
trades too many pieces) 
A) 11...Bxf2+ 12.Rxf2 hxg5
13.Nxg5 (13.Nd6!? White's
board control and mobility
compensate for the Pawn.) ;
B) 11...Be7]
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10...Rb8 11.Bb2 Re8 12.e4
Qc7 13.Qc2 d6 

XIIIIIIIIY
9-trl+r+k+0
9+-wq-+pzpp0
9-+pzp-sn-+0
9zp-vl-zp-+-0
9-+P+P+-+0
9+PsN-+-zP-0
9PvLQ+-zPLzP0
9tR-+-+RmK-0
xiiiiiiiiy

14.Kh1 Be6 15.Rad1 Bd4 

XIIIIIIIIY
9-tr-+r+k+0
9+-wq-+pzpp0
9-+pzplsn-+0
9zp-+-zp-+-0
9-+PvlP+-+0
9+PsN-+-zP-0
9PvLQ+-zPLzP0
9+-+R+R+K0
xiiiiiiiiy

16.Ne2 Bxb2 17.Qxb2 Bxc4
18.Rfe1 Be6 

XIIIIIIIIY
9-tr-+r+k+0
9+-wq-+pzpp0
9-+pzplsn-+0
9zp-+-zp-+-0
9-+-+P+-+0
9+P+-+-zP-0
9PwQ-+NzPLzP0
9+-+RtR-+K0
xiiiiiiiiy

Bl has won a Pawn 19.f4 Ng4
20.Nc3 Qa7 21.Re2 Red8 

XIIIIIIIIY
9-tr-tr-+k+0
9wq-+-+pzpp0
9-+pzpl+-+0
9zp-+-zp-+-0
9-+-+PzPn+0
9+PsN-+-zP-0
9PwQ-+R+LzP0
9+-+R+-+K0
xiiiiiiiiy

22.Qd2 to stop Ne3 22...Rb4
23.f5 Rd4? 
XIIIIIIIIY
9-+-tr-+k+0
9wq-+-+pzpp0
9-+pzpl+-+0
9zp-+-zpP+-0
9-+-trP+n+0
9+PsN-+-zP-0
9P+-wQR+LzP0
9+-+R+-+K0
xiiiiiiiiy

allowing White to attack all
three of Black's unprotected
pieces! 24.Qg5 Rxd1+
25.Nxd1 Nf6 26.fxe6 fxe6
27.Bh3 Re8 
XIIIIIIIIY
9-+-+r+k+0
9wq-+-+-zpp0
9-+pzppsn-+0
9zp-+-zp-wQ-0
9-+-+P+-+0
9+P+-+-zPL0
9P+-+R+-zP0
9+-+N+-+K0
xiiiiiiiiy

Black's center reminds me of
Bobby Fischer's comment: "Is
it a pawn mass or a pawn
mess?" 28.Qe3 Qc7 29.Nc3
d5 30.Qc5 Nd7 31.Qg1 d4
32.Na4 Qd6 33.Qc1 c5
34.Qc4 

XIIIIIIIIY
9-+-+r+k+0
9+-+n+-zpp0
9-+-wqp+-+0
9zp-zp-zp-+-0
9N+QzpP+-+0
9+P+-+-zPL0
9P+-+R+-zP0
9+-+-+-+K0
xiiiiiiiiy

With a solid blockade. White
can win with Nb2-d3, then
Rc2. 34...Kf7 35.Qb5 Ke7
36.Rc2 Rb8 37.Qxa5 d3
38.Rd2 Qd4 
XIIIIIIIIY
9-tr-+-+-+0
9+-+nmk-zpp0
9-+-+p+-+0
9wQ-zp-zp-+-0
9N+-wqP+-+0
9+P+p+-zPL0
9P+-tR-+-zP0
9+-+-+-+K0
xiiiiiiiiy

39.Rd1 
[39.Bg2 then Qc3] 
39...Rb4
[39...Qxe4+ 40.Bg2 Qe2
41.Qd2] 

40.Bg2 Qe3 41.Qa6 d2
42.Qf1 
XIIIIIIIIY
9-+-+-+-+0
9+-+nmk-zpp0
9-+-+p+-+0
9+-zp-zp-+-0
9Ntr-+P+-+0
9+P+-wq-zP-0
9P+-zp-+LzP0
9+-+R+Q+K0
xiiiiiiiiy

Black flagged      1–0
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(576) Venske, D - Eaman, R
[E13]
Reader-LBurn LB Library,
28.10.1999
1.d4 e6 2.c4 Nf6 3.Nc3 Bb4
4.Nf3 b6 5.Bg5 h6 6.Bh4
Bb7 7.e3 c5 8.Be2 g5 9.Bg3
Ne4 10.Qc2 Nxg3 11.hxg3
cxd4 12.exd4 Qf6 13.0–0–0 
XIIIIIIIIY
9rsn-+k+-tr0
9zpl+p+p+-0
9-zp-+pwq-zp0
9+-+-+-zp-0
9-vlPzP-+-+0
9+-sN-+NzP-0
9PzPQ+LzPP+0
9+-mKR+-+R0
xiiiiiiiiy

Leaving a wake of Pawn
problems. 13...Bxc3 14.Qxc3
g4 
XIIIIIIIIY
9rsn-+k+-tr0
9zpl+p+p+-0
9-zp-+pwq-zp0
9+-+-+-+-0
9-+PzP-+p+0
9+-wQ-+NzP-0
9PzP-+LzPP+0
9+-mKR+-+R0
xiiiiiiiiy

15.Ne5 Qxf2 16.Bxg4 Bxg2
17.Rh2 

XIIIIIIIIY
9rsn-+k+-tr0
9zp-+p+p+-0
9-zp-+p+-zp0
9+-+-sN-+-0
9-+PzP-+L+0
9+-wQ-+-zP-0
9PzP-+-wqltR0
9+-mKR+-+-0
xiiiiiiiiy

17...d6 18.Nxf7 Qxf7?

[18...Kxf7 19.Bh5+ Kg7 Black
is OK if he can break the Bg2
pin. (or 19...Ke7 ) 20.Rd2?
(20.Qb4? Qxg3) 20...Qe1+
21.Rd1 Qxc3+ etc] 

19.Bh5 Ouch! 19...Qxh5
20.Rxh5 Nd7 21.d5 e5
22.Qe3 0–0–0 23.Rg1 
XIIIIIIIIY
9-+ktr-+-tr0
9zp-+n+-+-0
9-zp-zp-+-zp0
9+-+Pzp-+R0
9-+P+-+-+0
9+-+-wQ-zP-0
9PzP-+-+l+0
9+-mK-+-tR-0
xiiiiiiiiy

23...Nf6 24.Rh4
[24.Rf5 attacks two pieces
24...Rhf8 25.Rxg2 Ng4
26.Qf3; 24.Rxh6? Ng4]

24...Nxd5 25.cxd5 Bxd5
26.b3 h5 27.Qg5 Bf3
28.Qf5+ 1–0

Losoff, A (1854) - 
Eaman, R (1739) [C00]
BankAm-LBurn, 09.1999

1.e4 e6 2.d3 d5 3.Nd2 d4
4.f4 Bb4 5.Ngf3 Ne7 6.g3 
XIIIIIIIIY
9rsnlwqk+-tr0
9zppzp-snpzpp0
9-+-+p+-+0
9+-+-+-+-0
9-vl-zpPzP-+0
9+-+P+NzP-0
9PzPPsN-+-zP0
9tR-vLQmKL+R0
xiiiiiiiiy

6...f5 Black has a good game
without this and gives
opponent early targets at e6
and f5 7.Qe2 Bd7 8.Bg2 Bc6
9.0–0 Bc5 10.Ng5 Qd7
11.exf5 
XIIIIIIIIY
9rsn-+k+-tr0
9zppzpqsn-zpp0
9-+l+p+-+0
9+-vl-+PsN-0
9-+-zp-zP-+0
9+-+P+-zP-0
9PzPPsNQ+LzP0
9tR-vL-+RmK-0
xiiiiiiiiy

11...Nxf5 simply drops a
Pawn 12.Qxe6+ Qxe6
13.Nxe6 Bxg2 
XIIIIIIIIY
9rsn-+k+-tr0
9zppzp-+-zpp0
9-+-+N+-+0
9+-vl-+n+-0
9-+-zp-zP-+0
9+-+P+-zP-0
9PzPPsN-+lzP0
9tR-vL-+RmK-0
xiiiiiiiiy

14.Re1
[14.Nxc7+? Kd7 15.Nxa8
Bxf1 16.Nxf1 Nc6 and White
loses the N at a8; 14.Kxg2
allows 14...Ne3+ forking]
14...Ne3 
XIIIIIIIIY
9rsn-+k+-tr0
9zppzp-+-zpp0
9-+-+N+-+0
9+-vl-+-+-0
9-+-zp-zP-+0
9+-+Psn-zP-0
9PzPPsN-+lzP0
9tR-vL-tR-mK-0
xiiiiiiiiy
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15.Nxc5 Uncovers a pin on N
at e3, causing weakness of B
at g2 and d-Pawn

[15.Nxc7+ Kd7 unpins N at e3
16.Nxa8 Nxc2 

XIIIIIIIIY
9Nsn-+-+-tr0
9zpp+k+-zpp0
9-+-+-+-+0
9+-vl-+-+-0
9-+-zp-zP-+0
9+-+P+-zP-0
9PzPnsN-+lzP0
9tR-vL-tR-mK-0
xiiiiiiiiy

17.Re2 (17.Re5 Bd6)
17...Nxa1 18.Kxg2 Nc2 and
Black once again wins N at
a8] 

15...Bd5 16.Nc4 0–0 17.Nxe3
dxe3 18.Bxe3 

White has won a second
Pawn and can simply double
Rooks on e-file then provoke
exchanges. 

18...b6 19.Ne4 Nc6 
XIIIIIIIIY
9r+-+-trk+0
9zp-zp-+-zpp0
9-zpn+-+-+0
9+-+l+-+-0
9-+-+NzP-+0
9+-+PvL-zP-0
9PzPP+-+-zP0
9tR-+-tR-mK-0
xiiiiiiiiy

20.Nc3 

[20.c4 gets the Pawns rolling
20...Bf7 21.Ng5 Bg6 22.Ne6

Rf7 23.d4
  (See diagram next column)

XIIIIIIIIY
9r+-+-+k+0
9zp-zp-+rzpp0
9-zpn+N+l+0
9+-+-+-+-0
9-+PzP-zP-+0
9+-+-vL-zP-0
9PzP-+-+-zP0
9tR-+-tR-mK-0
xiiiiiiiiy

23...Nb4 24.Re2 Re7 25.d5
Bd3 26.Rd2 Bf5 27.a3]

20...Bf7 21.a3

[21.Re2 prepares to double
and covers c2, making Nb4
useless] 

21...a6 22.Ne4 h6 23.Nf2 
XIIIIIIIIY
9r+-+-trk+0
9+-zp-+lzp-0
9pzpn+-+-zp0
9+-+-+-+-0
9-+-+-zP-+0
9zP-+PvL-zP-0
9-zPP+-sN-zP0
9tR-+-tR-mK-0
xiiiiiiiiy

 what is Knight's future?
23...Rfe8 24.Bd2 Nd4 
XIIIIIIIIY
9r+-+r+k+0
9+-zp-+lzp-0
9pzp-+-+-zp0
9+-+-+-+-0
9-+-sn-zP-+0
9zP-+P+-zP-0
9-zPPvL-sN-zP0
9tR-+-tR-mK-0
xiiiiiiiiy

Black has found an
opportunity! Threatens both
Nxc2 and Nf3+ forks

 25.Rxe8+ Rxe8 26.Bc3
Nxc2 27.Rc1 Ne3 28.Be5 c5
29.Ne4 
XIIIIIIIIY
9-+-+r+k+0
9+-+-+lzp-0
9pzp-+-+-zp0
9+-zp-vL-+-0
9-+-+NzP-+0
9zP-+Psn-zP-0
9-zP-+-+-zP0
9+-tR-+-mK-0
xiiiiiiiiy

Black has won back a Pawn.
The game is almost even
since the extra Pawn is easily
blocked. Black could pressure
weak P at d3 and pile up on
the light squares f5,g4,h3.
White would have trouble
breaking positon. 
29...Bd5 

[29...Rd8 30.Nf2 Be6 
XIIIIIIIIY
9-+-tr-+k+0
9+-+-+-zp-0
9pzp-+l+-zp0
9+-zp-vL-+-0
9-+-+-zP-+0
9zP-+Psn-zP-0
9-zP-+-sN-zP0
9+-tR-+-mK-0
xiiiiiiiiy

31.Re1 Nf5
 (31...Ng4? 32.Bxg7! idea: Nxg4,
then Bxh6 32...Kxg7 33.Rxe6 

XIIIIIIIIY
9-+-tr-+-+0
9+-+-+-mk-0
9pzp-+R+-zp0
9+-zp-+-+-0
9-+-+-zPn+0
9zP-+P+-zP-0
9-zP-+-sN-zP0
9+-+-+-mK-0
xiiiiiiiiy

White wins 33...Nxf2 34.Kxf2
Rxd3 35.Rxb6) 
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32.g4 

XIIIIIIIIY
9-+-tr-+k+0
9+-+-+-zp-0
9pzp-+l+-zp0
9+-zp-vLn+-0
9-+-+-zPP+0
9zP-+P+-+-0
9-zP-+-sN-zP0
9+-+-tR-mK-0
xiiiiiiiiy

(32.Bxg7? Nxg7) 32...Nh4
with Nf3 fork threat (32...Nd4
33.Bxd4 Wh wins a piece)
33.Re3 Bd5 

XIIIIIIIIY
9-+-tr-+k+0
9+-+-+-zp-0
9pzp-+-+-zp0
9+-zplvL-+-0
9-+-+-zPPsn0
9zP-+PtR-+-0
9-zP-+-sN-zP0
9+-+-+-mK-0
xiiiiiiiiy

Black has built solid pressure.
Main threat is still Nf3+ 
A) 34.Bc3 Nf3+ 35.Kh1
(35.Kf1 Nxh2+ 36.Ke2 strands
N at h2) 35...Nd2+ 

XIIIIIIIIY
9-+-tr-+k+0
9+-+-+-zp-0
9pzp-+-+-zp0
9+-zpl+-+-0
9-+-+-zPP+0
9zP-vLPtR-+-0
9-zP-sn-sN-zP0
9+-+-+-+K0
xiiiiiiiiy

36.Kg1 (36.Ne4? Nxe4
37.dxe4 Re8 wins a Pawn) ;

B) 34.Ne4 34...Bxe4 35.dxe4
Rd1+ 36.Kf2 Ng6 37.Bc7]

Enough of me playing my own
game, lets go back to last
large diagram previous page..

30.h3 Bb3 putting Bishop far

away from the action 31.Rc3
Ba4 32.b4 Nd5 
XIIIIIIIIY
9-+-+r+k+0
9+-+-+-zp-0
9pzp-+-+-zp0
9+-zpnvL-+-0
9lzP-+NzP-+0
9zP-tRP+-zPP0
9-+-+-+-+0
9+-+-+-mK-0
xiiiiiiiiy

33.bxc5! White cleverly
creates winning ending
33...Nxc3 34.Nxc3 b5 
XIIIIIIIIY
9-+-+r+k+0
9+-+-+-zp-0
9p+-+-+-zp0
9+pzP-vL-+-0
9l+-+-zP-+0
9zP-sNP+-zPP0
9-+-+-+-+0
9+-+-+-mK-0
xiiiiiiiiy

35.c6?

[35.Nxa4 since Black needs
both K and R to stop Pawn
duo, White's King is free to
roam! 35...bxa4 36.Kf2 

XIIIIIIIIY
9-+-+r+k+0
9+-+-+-zp-0
9p+-+-+-zp0
9+-zP-vL-+-0
9p+-+-zP-+0
9zP-+P+-zPP0
9-+-+-mK-+0
9+-+-+-+-0
xiiiiiiiiy

A) 36...Rc8 37.d4 Kf7 38.Ke3
g6 same as B line(38...g5
39.f5) ;
or, another try from diagram:

B) 36...Kf7 37.Ke3 
XIIIIIIIIY
9-+-+r+-+0
9+-+-+kzp-0
9p+-+-+-zp0
9+-zP-vL-+-0
9p+-+-zP-+0
9zP-+PmK-zPP0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

37...g6 38.Ke4 Ke6 39.d4 
XIIIIIIIIY
9-+-+r+-+0
9+-+-+-+-0
9p+-+k+pzp0
9+-zP-vL-+-0
9p+-zPKzP-+0
9zP-+-+-zPP0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

39...Rd8 (39...Kd7 40.d5)
40.c6 Rc8 (40...Rd5? 41.c7)
41.d5+ Kf7 42.Kd4 and
queens or wins a-Pawns.]

(From middle last column..)
35...Bb3 36.d4 Be6 
XIIIIIIIIY
9-+-+r+k+0
9+-+-+-zp-0
9p+P+l+-zp0
9+p+-vL-+-0
9-+-zP-zP-+0
9zP-sN-+-zPP0
9-+-+-+-+0
9+-+-+-mK-0
xiiiiiiiiy

37.d5?

[37.Kg2 followed by g4 and
Kf3-e4-d5]

37...Bxh3 38.d6 Kf7 39.d7
Bxd7 40.cxd7 Rd8 41.Ne4
Rxd7 42.Bd6 Ke6 43.Bb4 
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XIIIIIIIIY
9-+-+-+-+0
9+-+r+-zp-0
9p+-+k+-zp0
9+p+-+-+-0
9-vL-+NzP-+0
9zP-+-+-zP-0
9-+-+-+-+0
9+-+-+-mK-0
xiiiiiiiiy

White's two pieces give him
an edge. Main threat here is
Nc5+ fork K and P/R
43...Rd1+ 44.Kf2 Kf5 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-zp-0
9p+-+-+-zp0
9+p+-+k+-0
9-vL-+NzP-+0
9zP-+-+-zP-0
9-+-+-mK-+0
9+-+r+-+-0
xiiiiiiiiy

45.Ke2 [45.Nc5 Rd6 keeps R
occupied, but White hardly
can move!] 45...Ra1 46.Nf2
a5 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-zp-0
9-+-+-+-zp0
9zpp+-+k+-0
9-vL-+-zP-+0
9zP-+-+-zP-0
9-+-+KsN-+0
9tr-+-+-+-0
xiiiiiiiiy

47.Bf8 [47.Bxa5 Rxa3 gives
Black a scary passer]
47...Kg6 48.Nd3 Ke3 or g4
gain space 48...Kf7 49.Bc5
h5 50.Kd2 Ra2+ 51.Kc3 

XIIIIIIIIY
9-+-+-+-+0
9+-+-+kzp-0
9-+-+-+-+0
9zppvL-+-+p0
9-+-+-zP-+0
9zP-mKN+-zP-0
9r+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

51...a4? queenside is now
weak 

[51...Rg2 52.Bf2 ties White
down completely, Black's
King is free to roam! 52...Ke6
53.Kd4 Kf5 54.Ke3 g5
reduces White's chances]

52.Nb2 Kf6 53.Kc2 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-zp-0
9-+-+-mk-+0
9+pvL-+-+p0
9p+-+-zP-+0
9zP-+-+-zP-0
9rsNK+-+-+0
9+-+-+-+-0
xiiiiiiiiy

threatening Kb1 trapping R
53...b4 
[53...Ra1 54.Nd1 Ra2+
55.Nb2 draws] 
54.Bxb4 Kf5?! 55.Kb1 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-zp-0
9-+-+-+-+0
9+-+-+k+p0
9pvL-+-zP-+0
9zP-+-+-zP-0
9rsN-+-+-+0
9+K+-+-+-0
xiiiiiiiiy

55...Rxa3 deflects B from
covering g3 Pawn 

[55...Rxb2+ 56.Kxb2 Kg4
57.Be1 Kf3 58.Kc2 Ke2
59.Bc3 g6 60.Be5 

XIIIIIIIIY
9-+-+-+-+0
9+-+-+-+-0
9-+-+-+p+0
9+-+-vL-+p0
9p+-+-zP-+0
9zP-+-+-zP-0
9-+K+k+-+0
9+-+-+-+-0
xiiiiiiiiy

60...Kf3 61.Kc3 Wh wins
since 61...Kxg3 62.f5+! wins]

56.Bxa3 Kg4 57.Nd3 Kxg3
58.Bd6 h4 59.Nc5 h3 60.Ne6
h2 61.f5+ Kg4
 [61...Kg2 62.Bxh2 Kxh2
63.Nxg7] 
62.Bxh2 Kxf5 63.Nxg7+ Ke4 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-sN-0
9-+-+-+-+0
9+-+-+-+-0
9p+-+k+-+0
9+-+-+-+-0
9-+-+-+-vL0
9+K+-+-+-0
xiiiiiiiiy

White mated move 99  1–0

Thomas, G (1544) -
Blackmon, E (1787) [B33]
Tyros-Dragons, 01.12.1999

1.e4 c5 2.Nf3 Nc6 3.d4 cxd4
4.Nxd4 Nf6 5.Nc3 e5 6.Ndb5
d6 7.Bg5 a6 8.Bxf6 gxf6
9.Na3 b5 10.Nd5 
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XIIIIIIIIY
9r+lwqkvl-tr0
9+-+-+p+p0
9p+nzp-zp-+0
9+p+Nzp-+-0
9-+-+P+-+0
9sN-+-+-+-0
9PzPP+-zPPzP0
9tR-+QmKL+R0
xiiiiiiiiy

10...Bg7 11.c3 0–0 12.Nc2 f5
13.Bd3 
XIIIIIIIIY
9r+lwq-trk+0
9+-+-+pvlp0
9p+nzp-+-+0
9+p+Nzpp+-0
9-+-+P+-+0
9+-zPL+-+-0
9PzPN+-zPPzP0
9tR-+QmK-+R0
xiiiiiiiiy

13...f4!? A bit commital with
White's King in the center.

14.Qh5 Ne7 

XIIIIIIIIY
9r+lwq-trk+0
9+-+-snpvlp0
9p+-zp-+-+0
9+p+Nzp-+Q0
9-+-+Pzp-+0
9+-zPL+-+-0
9PzPN+-zPPzP0
9tR-+-mK-+R0
xiiiiiiiiy

15.g3 
The downside of Black's
13th...White can easily open
lines for his Rooks. 

15...Ng6 16.gxf4 Bb7 

XIIIIIIIIY
9r+-wq-trk+0
9+l+-+pvlp0
9p+-zp-+n+0
9+p+Nzp-+Q0
9-+-+PzP-+0
9+-zPL+-+-0
9PzPN+-zP-zP0
9tR-+-mK-+R0
xiiiiiiiiy

17.f5

[17.Nce3 White can allow sac
of Pf4 since it re-opens the
diagonal for the Bishop at d3
(after e4 pushed, of course.)
Black can trade, but White's
pressure against the light
squares, especially f5 and h7,
is promising. 17...Bxd5 

A) 18.Nxd5! Nxf4 19.Nxf4
exf4 

XIIIIIIIIY
9r+-wq-trk+0
9+-+-+pvlp0
9p+-zp-+-+0
9+p+-+-+Q0
9-+-+Pzp-+0
9+-zPL+-+-0
9PzP-+-zP-zP0
9tR-+-mK-+R0
xiiiiiiiiy

20.e5! h6 
   A1) 21.Rg1 Kh8 (21...dxe5
22.Qxh6 mates; 21...Re8
22.Qxh6 Rxe5+ 23.Kd2 is
fine) 22.Qf5 mating(22.0–0–0
threat: 23 Rxg7! Kxg7 24 Rg1
mating) ; 
   A2) 21.Qf5? 21...Re8
22.Qh7+ Kf8 23.Rg1 Rxe5+
24.Kd2 Qf6 Black looks
fine!(24...Bf6 25.Rg8+ wins
Q) ; 

B) 18.exd5 opening e-file
gives Black some counterplay

18...exf4 (18...Nxf4??
19.Qxh7#) 19.Nf5 Re8+
20.Kd2 and White gets at
Black's King. 20...Qb6
21.Raf1] 

17...Bxd5 18.fxg6 fxg6 
XIIIIIIIIY
9r+-wq-trk+0
9+-+-+-vlp0
9p+-zp-+p+0
9+p+lzp-+Q0
9-+-+P+-+0
9+-zPL+-+-0
9PzPN+-zP-zP0
9tR-+-mK-+R0
xiiiiiiiiy

Now the position has
transformed in Black's favor
19.Qg4 Rf4 20.Qg3 Be6 
XIIIIIIIIY
9r+-wq-+k+0
9+-+-+-vlp0
9p+-zpl+p+0
9+p+-zp-+-0
9-+-+Ptr-+0
9+-zPL+-wQ-0
9PzPN+-zP-zP0
9tR-+-mK-+R0
xiiiiiiiiy

21.Ne3 Qf6 22.Rg1 Rf3 
XIIIIIIIIY
9r+-+-+k+0
9+-+-+-vlp0
9p+-zplwqp+0
9+p+-zp-+-0
9-+-+P+-+0
9+-zPLsNrwQ-0
9PzP-+-zP-zP0
9tR-+-mK-tR-0
xiiiiiiiiy

23.Qg5 Rxf2! 24.Qxf6 Rxf6
25.h4 Rf3 26.Ke2 Raf8 
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XIIIIIIIIY
9-+-+-trk+0
9+-+-+-vlp0
9p+-zpl+p+0
9+p+-zp-+-0
9-+-+P+-zP0
9+-zPLsNr+-0
9PzP-+K+-+0
9tR-+-+-tR-0
xiiiiiiiiy

27.Nf5 Rh3

[27...Rxd3! 28.Ne7+ (28.Kxd3
gxf5 Black gets plenty for his
Rook) 28...Kf7 29.Kxd3
(29.Nxg6 Rh3 Black has won
a piece) 29...Kxe7 The Bishop
pair and probable g-file
passer should be enough.]

28.Nxg7 Kxg7 29.Rh1 Rff3 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-mkp0
9p+-zpl+p+0
9+p+-zp-+-0
9-+-+P+-zP0
9+-zPL+r+r0
9PzP-+K+-+0
9tR-+-+-+R0
xiiiiiiiiy

White's busted, regardless.
30.Bc2 Bc4+ 31.Kd2
[31.Ke1?? Rxh1+ wins both
Rooks] 
31...Rf2+ 32.Ke1 Re2+ and
mate next.      0–1

Vensk, D - 
Jasaitis, A (2101) [A85]
Reader-BankAm, 17.11.1999

1.d4 f5 2.c4 Nf6 3.Nc3 e6
4.Nf3 Bb4 5.e3 0–0 6.Bd3 d6
7.0–0 

XIIIIIIIIY
9rsnlwq-trk+0
9zppzp-+-zpp0
9-+-zppsn-+0
9+-+-+p+-0
9-vlPzP-+-+0
9+-sNLzPN+-0
9PzP-+-zPPzP0
9tR-vLQ+RmK-0
xiiiiiiiiy

7...Bxc3 8.bxc3 Qe7 9.Ba3
c5 10.Re1 e5 

XIIIIIIIIY
9rsnl+-trk+0
9zpp+-wq-zpp0
9-+-zp-sn-+0
9+-zp-zpp+-0
9-+PzP-+-+0
9vL-zPLzPN+-0
9P+-+-zPPzP0
9tR-+QtR-mK-0
xiiiiiiiiy

11.Nxe5!? dxe5 12.Bxc5
Qc7 13.Bxf8 Kxf8 

XIIIIIIIIY
9rsnl+-mk-+0
9zppwq-+-zpp0
9-+-+-sn-+0
9+-+-zpp+-0
9-+PzP-+-+0
9+-zPLzP-+-0
9P+-+-zPPzP0
9tR-+QtR-mK-0
xiiiiiiiiy

14.dxe5 Open lines for his
heavy pieces, regardless of
Pawn problems 

[14.a4   (14.c5 Be6 15.c4) 
Nc6 
(14...b6 15.a5 bxa5 16.Qa4
Nc6 17.d5) 

15.a5!? 
(15.Qb3 Na5 16.Qb5 e4
17.Be2) 
15...Nxa5 16.Qa4 

XIIIIIIIIY
9r+l+-mk-+0
9zppwq-+-zpp0
9-+-+-sn-+0
9sn-+-zpp+-0
9Q+PzP-+-+0
9+-zPLzP-+-0
9-+-+-zPPzP0
9tR-+-tR-mK-0
xiiiiiiiiy

16...Nc6 (16...b6 17.c5 Bd7
18.Qa3) 17.d5 Ne7]

14...Qxe5 15.Qf3 Na6 16.Qf4
Qxf4 17.exf4 
XIIIIIIIIY
9r+l+-mk-+0
9zpp+-+-zpp0
9n+-+-sn-+0
9+-+-+p+-0
9-+P+-zP-+0
9+-zPL+-+-0
9P+-+-zPPzP0
9tR-+-tR-mK-0
xiiiiiiiiy

White has rendered all his
Pawns useless and Black's
minors have plenty of room.
17...Nc5 18.Bc2 g6 19.f3
Be6 20.Bb3 Rd8 21.Rad1
Rxd1 22.Rxd1 Ke7 
XIIIIIIIIY
9-+-+-+-+0
9zpp+-mk-+p0
9-+-+lsnp+0
9+-sn-+p+-0
9-+P+-zP-+0
9+LzP-+P+-0
9P+-+-+PzP0
9+-+R+-mK-0
xiiiiiiiiy

White can hardly find a move.
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Black can get Nf6 into game-
-at a5, it would win a Pawn.
We get a great view of the
advantage of 2 minors vs
Rook. 
23.Kf2 Nfd7 24.Ke3 Nb8
25.Kd4 b6 26.Ke3 Nc6 
XIIIIIIIIY
9-+-+-+-+0
9zp-+-mk-+p0
9-zpn+l+p+0
9+-sn-+p+-0
9-+P+-zP-+0
9+LzP-mKP+-0
9P+-+-+PzP0
9+-+R+-+-0
xiiiiiiiiy

27.Kf2

[27.Rb1 Na5 28.Kd4 holds,
but White is totally tied down.
Better to give up a Pawn and
let Rook find a target, if
possible ] 

27...Na5 28.Ra1 Nxc4
29.Bxc4 Bxc4 

XIIIIIIIIY
9-+-+-+-+0
9zp-+-mk-+p0
9-zp-+-+p+0
9+-sn-+p+-0
9-+l+-zP-+0
9+-zP-+P+-0
9P+-+-mKPzP0
9tR-+-+-+-0
xiiiiiiiiy

30.Ke3 

[30.a3 relieves Rook of
immediate defensive duties,
but then 30...Na4 31.Rc1 Kd6
32.Ke3 Kc5 33.Kd2 Kb5 

XIIIIIIIIY
9-+-+-+-+0
9zp-+-+-+p0
9-zp-+-+p+0
9+k+-+p+-0
9n+l+-zP-+0
9zP-zP-+P+-0
9-+-mK-+PzP0
9+-tR-+-+-0
xiiiiiiiiy

A) 34.Kc2? Nc5 35.Re1
(35.Rd1 Ka4 36.Kb2 Nd3+ is
no better) 35...Ka4 36.Ra1
(36.Kb2?? Nd3+) ; 
B) 34.Re1 34...Nc5 35.Re7
a5 36.Rxh7 Ka4 

XIIIIIIIIY
9-+-+-+-+0
9+-+-+-+R0
9-zp-+-+p+0
9zp-sn-+p+-0
9k+l+-zP-+0
9zP-zP-+P+-0
9-+-mK-+PzP0
9+-+-+-+-0
xiiiiiiiiy

gotta believe Black Pawns are
stronger] 

30...Kd6 31.Kd4? Black's
King can enter through
Queenside, so White isn't
stopping anything with move
31...b5 
XIIIIIIIIY
9-+-+-+-+0
9zp-+-+-+p0
9-+-mk-+p+0
9+psn-+p+-0
9-+lmK-zP-+0
9+-zP-+P+-0
9P+-+-+PzP0
9tR-+-+-+-0
xiiiiiiiiy

the a3 plan now fails to Nb3+
fork 32.Rb1 Ne6+ 33.Ke3
Kc5 34.a3 Nc7 35.Re1 Nd5+
36.Kd2 

XIIIIIIIIY
9-+-+-+-+0
9zp-+-+-+p0
9-+-+-+p+0
9+pmkn+p+-0
9-+l+-zP-+0
9zP-zP-+P+-0
9-+-mK-+PzP0
9+-+-tR-+-0
xiiiiiiiiy

reaching a position similar to
analysis at move 30, except
Nd5 is better placed.
36...Nxf4 37.Re7 a5 38.Rxh7
Nxg2 39.Rg7 Nh4 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+-tR-0
9-+-+-+p+0
9zppmk-+p+-0
9-+l+-+-sn0
9zP-zP-+P+-0
9-+-mK-+-zP0
9+-+-+-+-0
xiiiiiiiiy

40.Ke3 Ba2 41.Kf4 Kc4 
White resigned   0-1

Sitar, K (1576) - 
Carter, L [E20]
BankAm-Reader, 17.11.1999

1.c4 Nf6 2.d4 e6 3.Nc3 Bb4
4.Bd2 Nc6 5.a3 Bxc3 6.Bxc3
Ne4 
XIIIIIIIIY
9r+lwqk+-tr0
9zppzpp+pzpp0
9-+n+p+-+0
9+-+-+-+-0
9-+PzPn+-+0
9zP-vL-+-+-0
9-zP-+PzPPzP0
9tR-+QmKLsNR0
xiiiiiiiiy



The Chicago Chess Player             January 2000

7.d5 Nxc3 8.bxc3 Ne5 9.e3
Qf6 10.Rc1 d6 11.Be2 0–0
12.Nf3 
XIIIIIIIIY
9r+l+-trk+0
9zppzp-+pzpp0
9-+-zppwq-+0
9+-+Psn-+-0
9-+P+-+-+0
9zP-zP-zPN+-0
9-+-+LzPPzP0
9+-tRQmK-+R0
xiiiiiiiiy

12...Ng6 13.0–0 e5 
XIIIIIIIIY
9r+l+-trk+0
9zppzp-+pzpp0
9-+-zp-wqn+0
9+-+Pzp-+-0
9-+P+-+-+0
9zP-zP-zPN+-0
9-+-+LzPPzP0
9+-tRQ+RmK-0
xiiiiiiiiy

14.Nd2 Nh4 15.g3 Bh3 
XIIIIIIIIY
9r+-+-trk+0
9zppzp-+pzpp0
9-+-zp-wq-+0
9+-+Pzp-+-0
9-+P+-+-sn0
9zP-zP-zP-zPl0
9-+-sNLzP-zP0
9+-tRQ+RmK-0
xiiiiiiiiy

16.Re1

 [16.gxh4?? Qg6+ 17.Bg4

(17.Kh1 Qg2#) 17...Bxg4
18.f3 Bxf3+ wins Q]

16...Qe7? 

[16...Ng2 17.Rf1 Nxe3
18.fxe3 Bxf1 19.Bxf1 

XIIIIIIIIY
9r+-+-trk+0
9zppzp-+pzpp0
9-+-zp-wq-+0
9+-+Pzp-+-0
9-+P+-+-+0
9zP-zP-zP-zP-0
9-+-sN-+-zP0
9+-tRQ+LmK-0
xiiiiiiiiy

Its probably better for White
since Black's Rooks will take
time to get in the game.]

17.Bg4 

[17.gxh4 Qxh4 18.Bf1
defends with extra piece in
hand] 

17...Bxg4 18.Qxg4 Ng6 

XIIIIIIIIY
9r+-+-trk+0
9zppzp-wqpzpp0
9-+-zp-+n+0
9+-+Pzp-+-0
9-+P+-+Q+0
9zP-zP-zP-zP-0
9-+-sN-zP-zP0
9+-tR-tR-mK-0
xiiiiiiiiy

White's center Pawns could
get interesting if they can be
mobilized 
19.e4 stopping Black's f5
19...c6 20.a4 not needed

[20.f4 
 A) 20...b5 21.cxb5 (21.dxc6?
bxc4 22.Nxc4 Rfc8) 21...cxb5
22.c4; 

B) 20...exf4 21.gxf4 cxd5
22.cxd5 Rac8 

XIIIIIIIIY
9-+r+-trk+0
9zpp+-wqpzpp0
9-+-zp-+n+0
9+-+P+-+-0
9-+-+PzPQ+0
9zP-zP-+-+-0
9-+-sN-+-zP0
9+-tR-tR-mK-0
xiiiiiiiiy

23.c4 (23.Nf3 Rc4 24.e5? the
f4-Pawn is pinned 24...Rxf4)
23...Rc7 24.Re3 (24.Nf3
Rfc8) 24...Rfc8 25.Rce1 

XIIIIIIIIY
9-+r+-+k+0
9zpptr-wqpzpp0
9-+-zp-+n+0
9+-+P+-+-0
9-+P+PzPQ+0
9zP-+-tR-+-0
9-+-sN-+-zP0
9+-+-tR-mK-0
xiiiiiiiiy

20...c5 21.h4 Qf6 

XIIIIIIIIY
9r+-+-trk+0
9zpp+-+pzpp0
9-+-zp-wqn+0
9+-zpPzp-+-0
9P+P+P+QzP0
9+-zP-+-zP-0
9-+-sN-zP-+0
9+-tR-tR-mK-0
xiiiiiiiiy

22.Qf5 Qxf5 23.exf5 Ne7
24.f6 gxf6 25.Ne4 
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XIIIIIIIIY
9r+-+-trk+0
9zpp+-snp+p0
9-+-zp-zp-+0
9+-zpPzp-+-0
9P+P+N+-zP0
9+-zP-+-zP-0
9-+-+-zP-+0
9+-tR-tR-mK-0
xiiiiiiiiy

White's Pawns are immobile
25...Rad8 26.Nxf6+ Kg7
27.Ne4 f5 28.Ng5 Rf6
29.Ne6+ Rxe6 30.dxe6 Kf6
31.Rb1 b6 32.Rb2 Kxe6 

XIIIIIIIIY
9-+-tr-+-+0
9zp-+-sn-+p0
9-zp-zpk+-+0
9+-zp-zpp+-0
9P+P+-+-zP0
9+-zP-+-zP-0
9-tR-+-zP-+0
9+-+-tR-mK-0
xiiiiiiiiy

Black has the advantage-
pieces have future and Pawns
are mobile.
33.Reb1 Rb8? 
[33...Nc6 and Na5 wins Pc4,
after which d6-5-d4 happens
34.Rb5 Na5 35.Rxa5! bxa5
36.Rb5 

XIIIIIIIIY
9-+-tr-+-+0
9zp-+-+-+p0
9-+-zpk+-+0
9zpRzp-zpp+-0
9P+P+-+-zP0
9+-zP-+-zP-0
9-+-+-zP-+0
9+-+-+-mK-0
xiiiiiiiiy

is interesting, Black center is
broad, but not going far.]

34.a5 Nc8 35.f3 h5 36.Kh2
Kf6 37.Kh3 Rb7 
XIIIIIIIIY
9-+n+-+-+0
9zpr+-+-+-0
9-zp-zp-mk-+0
9zP-zp-zpp+p0
9-+P+-+-zP0
9+-zP-+PzPK0
9-tR-+-+-+0
9+R+-+-+-0
xiiiiiiiiy

38.g4 hxg4+ 39.fxg4 f4 
XIIIIIIIIY
9-+n+-+-+0
9zpr+-+-+-0
9-zp-zp-mk-+0
9zP-zp-zp-+-0
9-+P+-zpPzP0
9+-zP-+-+K0
9-tR-+-+-+0
9+R+-+-+-0
xiiiiiiiiy

40.Rf1

 [40.g5+ Kf5 

(40...Kg6 41.Kg4) 

41.Rg1 e4 42.g6 Rg7 43.h5 
XIIIIIIIIY
9-+n+-+-+0
9zp-+-+-tr-0
9-zp-zp-+P+0
9zP-zp-+k+P0
9-+P+pzp-+0
9+-zP-+-+K0
9-tR-+-+-+0
9+-+-+-tR-0
xiiiiiiiiy

as White's Pawns progress,
space opens for the easily
mobile Rooks. 43...e3 

(43...f3 44.Kg3 Kg5 45.axb6
axb6 46.Rh2 and Re1 next)

44.axb6 axb6 45.Kh4 
XIIIIIIIIY
9-+n+-+-+0
9+-+-+-tr-0
9-zp-zp-+P+0
9+-zp-+k+P0
9-+P+-zp-mK0
9+-zP-zp-+-0
9-tR-+-+-+0
9+-+-+-tR-0
xiiiiiiiiy

45...f3 46.Kg3 f2 47.Rf1 Kg5

(47...e2? 48.Rxf2+)

 48.Kf3 Kxh5 49.Kxe3 Re7+

(49...Rxg6 50.Rh1+ Kg5
51.Rxf2) ] 

40...Ne7 41.axb6 axb6
42.Ra1 Nc8 43.Ra8 Rc7
44.Re2 Kg6 45.Kg2 Kh6
46.Kf3 Kg6 47.Ke4 Kf6
48.Rd2 Ke6 49.h5 Kf6 

XIIIIIIIIY
9R+n+-+-+0
9+-tr-+-+-0
9-zp-zp-mk-+0
9+-zp-zp-+P0
9-+P+KzpP+0
9+-zP-+-+-0
9-+-tR-+-+0
9+-+-+-+-0
xiiiiiiiiy

50.Rxc8 Rxc8 51.Rxd6+ Kg5
52.Rg6+ Kh4 



The Chicago Chess Player             January 2000
XIIIIIIIIY
9-+r+-+-+0
9+-+-+-+-0
9-zp-+-+R+0
9+-zp-zp-+P0
9-+P+KzpPmk0
9+-zP-+-+-0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

White has Black stopped and
only needs to advance
passers 
53.Kxe5? the King should
maintain a blockade 

[53.h6 
A) 53...Rf8 54.h7 f3 55.Rg8;
B) 53...Rc7 54.Rg7;
C) 53...Kg3 54.g5 (54.h7?
Rh8 55.Rg7 f3 56.g5 f2)
54...f3 55.Rf6 f2 56.Ke3 Kg4
57.Kxf2 Kxg5 58.Rxb6 Rh8
59.Ke3; 
D) 53...Rh8 54.Kf3! Black
can't move!] 

53...f3 
XIIIIIIIIY
9-+r+-+-+0
9+-+-+-+-0
9-zp-+-+R+0
9+-zp-mK-+P0
9-+P+-+Pmk0
9+-zP-+p+-0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

54.Rxb6 this Pawn was
already useless 54...Kxg4
55.h6 f2 56.Rf6 Kg3 57.Kd5
Kg2 58.h7 f1Q 59.Rxf1 Kxf1
60.h8Q Rxh8 61.Kxc5 Ke2
62.Kd6? should give Black

the win 
[62.Kd5 locks Black King out]

62...Kd3 63.c5 Rd8+? Bad
for two reasons: gives the
King a tempo to advance, and
places Rook where King can
attack it 

[63...Kc4! this move gets the
King helping just in time!
64.c6 (64.Kc6? Rh6+)
64...Kb5 65.c7 Kb6 66.Kd7
Kb7 67.c4 Rh7+ 68.Kd8
Rxc7] 
64.Kc7 Ra8 nothing wins

[64...Rh8 65.Kb7 Rh7+
(65...Kc4 66.c6 Kb5 67.c7
Rh7 68.Kb8) 66.Kb6 Kc4
67.c6; 64...Rd5 

A) 65.c6 Kc4 66.Kb6!
(66.Kc8? Kc5 67.c7 Kc6
68.Kb8 Rb5+ 69.Kc8 Rb7) 
B) 65.Kb6 ] 

65.c6 Kc4 66.Kb7 Kc5 ½–½

Sossi, M (1483) -
Czerniecki, T (1995) [B06]
LeoBurn-Alumni Aces,
16.12.1999
1.e4 g6 2.d4 Bg7 3.Nf3 d6
4.Bc4 Nf6 5.e5 dxe5 6.Nxe5 
XIIIIIIIIY
9rsnlwqk+-tr0
9zppzp-zppvlp0
9-+-+-snp+0
9+-+-sN-+-0
9-+LzP-+-+0
9+-+-+-+-0
9PzPP+-zPPzP0
9tRNvLQmK-+R0
xiiiiiiiiy

6...0–0 7.0–0 c6 8.c3 Nbd7 
XIIIIIIIIY
9r+lwq-trk+0
9zpp+nzppvlp0
9-+p+-snp+0
9+-+-sN-+-0
9-+LzP-+-+0
9+-zP-+-+-0
9PzP-+-zPPzP0
9tRNvLQ+RmK-0
xiiiiiiiiy

9.f4 Grabs space and maybe
f5 is coming!
 9...Qb6 10.Qb3 
White shouldn't offer Queen
trade with such a fine
position. 10...e6 
XIIIIIIIIY
9r+l+-trk+0
9zpp+n+pvlp0
9-wqp+psnp+0
9+-+-sN-+-0
9-+LzP-zP-+0
9+QzP-+-+-0
9PzP-+-+PzP0
9tRNvL-+RmK-0
xiiiiiiiiy

defending, but the Queenside
won't develop naturally.

11.Nd2 

[Trying too hard with 11.Nxf7? 
XIIIIIIIIY
9r+l+-trk+0
9zpp+n+Nvlp0
9-wqp+psnp+0
9+-+-+-+-0
9-+LzP-zP-+0
9+QzP-+-+-0
9PzP-+-+PzP0
9tRNvL-+RmK-0
xiiiiiiiiy
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with the idea 11...Rxf7?
(Simply 11...Qxb3 12.Bxb3
Kxf7 wins a clean piece)
12.Bxe6 Qxb3 13.Bxb3 Gets
2 pawns and Rook for 2
pieces, but allows too many
trades and Black's minor
pieces become active.]

11...Nxe5 12.fxe5 Ng4? 
XIIIIIIIIY
9r+l+-trk+0
9zpp+-+pvlp0
9-wqp+p+p+0
9+-+-zP-+-0
9-+LzP-+n+0
9+QzP-+-+-0
9PzP-sN-+PzP0
9tR-vL-+RmK-0
xiiiiiiiiy

The Knight will spend moves
getting to a good position.
Ne8 after which Black could
free Queenside

[12...Qxb3 13.Bxb3 Ne8
14.Ne4 b6 

XIIIIIIIIY
9r+l+ntrk+0
9zp-+-+pvlp0
9-zpp+p+p+0
9+-+-zP-+-0
9-+-zPN+-+0
9+LzP-+-+-0
9PzP-+-+PzP0
9tR-vL-+RmK-0
xiiiiiiiiy

gets the Queenside mobile]

13.Qxb6 axb6 14.Ne4 Nh6
15.h3 Nf5 16.g4 Ne7 17.Nd6
h6 

XIIIIIIIIY
9r+l+-trk+0
9+p+-snpvl-0
9-zppsNp+pzp0
9+-+-zP-+-0
9-+LzP-+P+0
9+-zP-+-+P0
9PzP-+-+-+0
9tR-vL-+RmK-0
xiiiiiiiiy

18.Be3 Nd5 19.Bd2 

XIIIIIIIIY
9r+l+-trk+0
9+p+-+pvl-0
9-zppsNp+pzp0
9+-+nzP-+-0
9-+LzP-+P+0
9+-zP-+-+P0
9PzP-vL-+-+0
9tR-+-+RmK-0
xiiiiiiiiy

White has space, but Black's
position is solid enough. Black
could try f6 before White has
time to consolidate on the f-
file. 19...c5 

[19...f6 20.Bxd5 exd5 21.exf6
Rxf6 22.Rxf6 Bxf6 23.Bxh6 

XIIIIIIIIY
9r+l+-+k+0
9+p+-+-+-0
9-zppsN-vlpvL0
9+-+p+-+-0
9-+-zP-+P+0
9+-zP-+-+P0
9PzP-+-+-+0
9tR-+-+-mK-0
xiiiiiiiiy

White has an extra Pawn,
however] 

20.a3 Rb8 21.Rf3 
XIIIIIIIIY
9-trl+-trk+0
9+p+-+pvl-0
9-zp-sNp+pzp0
9+-zpnzP-+-0
9-+LzP-+P+0
9zP-zP-+R+P0
9-zP-vL-+-+0
9tR-+-+-mK-0
xiiiiiiiiy

White has all the play and
begins to stack up on f7.

21...Bd7 22.Raf1 Be8
23.Bxd5 exd5 24.Be1 
XIIIIIIIIY
9-tr-+ltrk+0
9+p+-+pvl-0
9-zp-sN-+pzp0
9+-zppzP-+-0
9-+-zP-+P+0
9zP-zP-+R+P0
9-zP-+-+-+0
9+-+-vLRmK-0
xiiiiiiiiy

24...b5 25.Bh4 threatening
Be7 25...g5 26.Bg3 cxd4
27.cxd4 b6 28.h4 
XIIIIIIIIY
9-tr-+ltrk+0
9+-+-+pvl-0
9-zp-sN-+-zp0
9+p+pzP-zp-0
9-+-zP-+PzP0
9zP-+-+RvL-0
9-zP-+-+-+0
9+-+-+RmK-0
xiiiiiiiiy
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28...Ra8 To activate Rook,
but it's too late 29.hxg5 hxg5
30.Be1 
XIIIIIIIIY
9r+-+ltrk+0
9+-+-+pvl-0
9-zp-sN-+-+0
9+p+pzP-zp-0
9-+-zP-+P+0
9zP-+-+R+-0
9-zP-+-+-+0
9+-+-vLRmK-0
xiiiiiiiiy

threatening Bb4, then Nf5.
30...Ra7 31.Bb4 Bd7 
XIIIIIIIIY
9-+-+-trk+0
9tr-+l+pvl-0
9-zp-sN-+-+0
9+p+pzP-zp-0
9-vL-zP-+P+0
9zP-+-+R+-0
9-zP-+-+-+0
9+-+-+RmK-0
xiiiiiiiiy

Giving Rook at f8 space, but
abandoning f7. 32.Rxf7 Rxf7
33.Rxf7 Rc7 34.Bc3 Bf8 
XIIIIIIIIY
9-+-+-vlk+0
9+-trl+R+-0
9-zp-sN-+-+0
9+p+pzP-zp-0
9-+-zP-+P+0
9zP-vL-+-+-0
9-zP-+-+-+0
9+-+-+-mK-0
xiiiiiiiiy

undermining Rook 35.e6! A
nice find. Rf2 is simple.
35...Bxd6 

[35...Rxc3? 36.bxc3 Bxe6
seems to win a piece, but
37.Rf6 wins] 
36.exd7 
XIIIIIIIIY
9-+-+-+k+0
9+-trP+R+-0
9-zp-vl-+-+0
9+p+p+-zp-0
9-+-zP-+P+0
9zP-vL-+-+-0
9-zP-+-+-+0
9+-+-+-mK-0
xiiiiiiiiy

36...Kxf7 37.d8Q Bf4
38.Qxd5+ Kg7 39.Qxb5 Rf7
40.Qd3 
XIIIIIIIIY
9-+-+-+-+0
9+-+-+rmk-0
9-zp-+-+-+0
9+-+-+-zp-0
9-+-zP-vlP+0
9zP-vLQ+-+-0
9-zP-+-+-+0
9+-+-+-mK-0
xiiiiiiiiy

40...b5 41.d5+ Kf8 42.d6
White scored a nice upset!
1–0

Bannon, B (1173) - 
Frank, M (1812) [C01]
LeoBurn-Alumni Aces,
16.12.1999

1.e4 e6 2.Nf3 d5 3.exd5
exd5 4.d4 Nf6 5.Nc3 Bg4
6.Bd3 Nc6 7.Be3 Bb4 8.h3
Bh5 

XIIIIIIIIY
9r+-wqk+-tr0
9zppzp-+pzpp0
9-+n+-sn-+0
9+-+p+-+l0
9-vl-zP-+-+0
9+-sNLvLN+P0
9PzPP+-zPP+0
9tR-+QmK-+R0
xiiiiiiiiy

9.g4 Bg6 10.Bxg6 hxg6
11.Qd3 

XIIIIIIIIY
9r+-wqk+-tr0
9zppzp-+pzp-0
9-+n+-snp+0
9+-+p+-+-0
9-vl-zP-+P+0
9+-sNQvLN+P0
9PzPP+-zP-+0
9tR-+-mK-+R0
xiiiiiiiiy

11...Nxg4! 
since Rh1 is undefended

 12.0–0–0 Nxe3 13.Qxe3+ 
XIIIIIIIIY
9r+-wqk+-tr0
9zppzp-+pzp-0
9-+n+-+p+0
9+-+p+-+-0
9-vl-zP-+-+0
9+-sN-wQN+P0
9PzPP+-zP-+0
9+-mKR+-+R0
xiiiiiiiiy
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13...Be7 14.Rde1 0–0 
XIIIIIIIIY
9r+-wq-trk+0
9zppzp-vlpzp-0
9-+n+-+p+0
9+-+p+-+-0
9-+-zP-+-+0
9+-sN-wQN+P0
9PzPP+-zP-+0
9+-mK-tR-+R0
xiiiiiiiiy

15.h4 Re8 
XIIIIIIIIY
9r+-wqr+k+0
9zppzp-vlpzp-0
9-+n+-+p+0
9+-+p+-+-0
9-+-zP-+-zP0
9+-sN-wQN+-0
9PzPP+-zP-+0
9+-mK-tR-+R0
xiiiiiiiiy

taking aim at the Queen
16.h5! It's usually bad to allow
your opponent a discovery.
Here, however, Be7 hasn't
much to attack. 16...g5 
[16...Bg5? 17.Qxg5; 16...Bf6
17.Qd3 Nb4? 18.Qb5] 
17.h6! g4 
XIIIIIIIIY
9r+-wqr+k+0
9zppzp-vlpzp-0
9-+n+-+-zP0
9+-+p+-+-0
9-+-zP-+p+0
9+-sN-wQN+-0
9PzPP+-zP-+0
9+-mK-tR-+R0
xiiiiiiiiy

Now if White moves the
Knight from f3, Bg5 pins
Queen. 
[17...gxh6 18.Rxh6 Bf8
19.Qxe8 (19.Qxg5+? Qxg5+
20.Nxg5 Bxh6) 19...Qxe8
20.Rxe8 Rxe8 21.Rh1 and
White will win d- or g-Pawn.] 

18.hxg7 
XIIIIIIIIY
9r+-wqr+k+0
9zppzp-vlpzP-0
9-+n+-+-+0
9+-+p+-+-0
9-+-zP-+p+0
9+-sN-wQN+-0
9PzPP+-zP-+0
9+-mK-tR-+R0
xiiiiiiiiy

18...Bg5? 
XIIIIIIIIY
9r+-wqr+k+0
9zppzp-+pzP-0
9-+n+-+-+0
9+-+p+-vl-0
9-+-zP-+p+0
9+-sN-wQN+-0
9PzPP+-zP-+0
9+-mK-tR-+R0
xiiiiiiiiy

Black still can't do this!

[18...gxf3?? 19.Qh6 f6 
XIIIIIIIIY
9r+-wqr+k+0
9zppzp-vl-zP-0
9-+n+-zp-wQ0
9+-+p+-+-0
9-+-zP-+-+0
9+-sN-+p+-0
9PzPP+-zP-+0
9+-mK-tR-+R0
xiiiiiiiiy

20.Qh7+ Kf7 21.g8Q#]

19.Rh8+? 

[19.Qxg5! Rxe1+ (19...gxf3??
20.Rh8#; 
Also after 19 Qxg5! If
19...Qxg5+, then  20.Nxg5 

XIIIIIIIIY
9r+-+r+k+0
9zppzp-+pzP-0
9-+n+-+-+0
9+-+p+-sN-0
9-+-zP-+p+0
9+-sN-+-+-0
9PzPP+-zP-+0
9+-mK-tR-+R0
xiiiiiiiiy

White is a piece up 20...f6
21.Ne6) 

Continuing from last large
diagram 19. Qxd5! Rxe1+
20.Rxe1 

XIIIIIIIIY
9r+-wq-+k+0
9zppzp-+pzP-0
9-+n+-+-+0
9+-+p+-wQ-0
9-+-zP-+p+0
9+-sN-+N+-0
9PzPP+-zP-+0
9+-mK-tR-+-0
xiiiiiiiiy

20...gxf3 21.Qh6 Material is
even, but the g-passer forces
immediate mates. 21...f6
22.Rh1! threatening the Qh7+
combo again (see note to the
18th move). 22...Kf7 23.Qh5+ 

XIIIIIIIIY
9r+-wq-+-+0
9zppzp-+kzP-0
9-+n+-zp-+0
9+-+p+-+Q0
9-+-zP-+-+0
9+-sN-+p+-0
9PzPP+-zP-+0
9+-mK-+-+R0
xiiiiiiiiy
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A) 23...Ke7 24.Re1+ Kd7
(24...Kd6 25.Nb5+ Kd7
26.Qf5#) 25.Qf5+ Kd6
26.Nb5#; 
B) 23...Kxg7 24.Rg1+ Kf8
25.Qh8+ Ke7 26.Rg7+ 

XIIIIIIIIY
9r+-wq-+-wQ0
9zppzp-mk-tR-0
9-+n+-zp-+0
9+-+p+-+-0
9-+-zP-+-+0
9+-sN-+p+-0
9PzPP+-zP-+0
9+-mK-+-+-0
xiiiiiiiiy

26...Kd6 (26...Ke6 27.Qh3+
and mate next move.)
27.Nb5+ Ke6 28.Qh3+ f5
29.Qh6+ Qf6 30.Rg6]

Interesting stuff, but lets get
back to the game. We left off 
at the bottom of the last page,
large diagram-of course!

19...Kxg7 
XIIIIIIIIY
9r+-wqr+-tR0
9zppzp-+pmk-0
9-+n+-+-+0
9+-+p+-vl-0
9-+-zP-+p+0
9+-sN-wQN+-0
9PzPP+-zP-+0
9+-mK-tR-+-0
xiiiiiiiiy

Now White has 3 pieces
hanging!! 

20.Rxe8 Bxe3+ 21.R1xe3
Qxe8 22.Rxe8 Rxe8 

XIIIIIIIIY
9-+-+r+-+0
9zppzp-+pmk-0
9-+n+-+-+0
9+-+p+-+-0
9-+-zP-+p+0
9+-sN-+N+-0
9PzPP+-zP-+0
9+-mK-+-+-0
xiiiiiiiiy

23.Ne5 trades make Black's
job easier, but Nf3 had no
future anyhow. Black's exact
play shows that White should
resign here. 

23...Nxe5 24.dxe5 Rxe5
25.Kd2 c6 26.b4 f5 27.Ne2 

XIIIIIIIIY
9-+-+-+-+0
9zpp+-+-mk-0
9-+p+-+-+0
9+-+ptrp+-0
9-zP-+-+p+0
9+-+-+-+-0
9P+PmKNzP-+0
9+-+-+-+-0
xiiiiiiiiy

27...Rxe2+! 

Very nice, Black realizes the
Pawn ending is simple. 

28.Kxe2 Kf6 29.f4 gxf3+
30.Kxf3 Ke5 31.Ke3 b6 32.a4
a5 33.bxa5 bxa5 34.c3 c5
35.Kf3 d4 

XIIIIIIIIY
9-+-+-+-+0
9+-+-+-+-0
9-+-+-+-+0
9zp-zp-mkp+-0
9P+-zp-+-+0
9+-zP-+K+-0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

36.c4 f4 

0–1
Matthews, K - 
McAlister, K (1976) [A10]
Reader-Columbia, 1999
1.c4 b6 2.Nc3 Nf6 3.e3 Bb7
4.Nf3 e6 5.d3 Bb4 6.Bd2 0–0
7.Be2 d5 8.Qc2 dxc4 9.dxc4
Qe7 10.a3 Bd6 11.e4 
XIIIIIIIIY
9rsn-+-trk+0
9zplzp-wqpzpp0
9-zp-vlpsn-+0
9+-+-+-+-0
9-+P+P+-+0
9zP-sN-+N+-0
9-zPQvLLzPPzP0
9tR-+-mK-+R0
xiiiiiiiiy

11...Nbd7 to stop Pe5,
forking 12.0–0–0 a6 13.Bg5 
XIIIIIIIIY
9r+-+-trk+0
9+lzpnwqpzpp0
9pzp-vlpsn-+0
9+-+-+-vL-0
9-+P+P+-+0
9zP-sN-+N+-0
9-zPQ+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy
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13...c6 Probably to support b5
thrust and give Bishop a
retreat, but feels too slow.

[The immediate 13...b5? fails
14.cxb5 axb5 15.Nxb5 Bxe4? 

XIIIIIIIIY
9r+-+-trk+0
9+-zpnwqpzpp0
9-+-vlpsn-+0
9+N+-+-vL-0
9-+-+l+-+0
9zP-+-+N+-0
9-zPQ+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

16.Qxe4! Nxe4 17.Bxe7 Bxe7
18.Rxd7; 

Other tries from last large
diagram...
13...Bxa3?! 14.bxa3 Qxa3+
15.Kb1 leaves Black wishing; 

but these last two give hope:
13...Rfd8 with idea Ne5, fights
for open d-file; 

Lastly 13...c5 
XIIIIIIIIY
9r+-+-trk+0
9+l+nwqpzpp0
9pzp-vlpsn-+0
9+-zp-+-vL-0
9-+P+P+-+0
9zP-sN-+N+-0
9-zPQ+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

may be OK. Black has Bc6
and then b5 
14.Qd2 Bc7 

(14...Be5? 15.Nxe5 Nxe5
16.f4 Nc6 heading for d4
17.e5) 

15.Qe3 e5 

XIIIIIIIIY
9r+-+-trk+0
9+lvlnwqpzpp0
9pzp-+-sn-+0
9+-zp-zp-vL-0
9-+P+P+-+0
9zP-sN-wQN+-0
9-zP-+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

as in game. No good is
15...Ne5? 16.Nxe5 Bxe5
17.f4 Bd4 18.e5, so 16.Nh4
Qe6 17.Nf5 

XIIIIIIIIY
9r+-+-trk+0
9+lvln+pzpp0
9pzp-+qsn-+0
9+-zp-zpNvL-0
9-+P+P+-+0
9zP-sN-wQ-+-0
9-zP-+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

17...Nxe4! takes advantage of
Bb7 participation: QxN not
possible so Nf5 hangs.] 

14.Qd2 Bc7 15.Qe3 
XIIIIIIIIY
9r+-+-trk+0
9+lvlnwqpzpp0
9pzpp+psn-+0
9+-+-+-vL-0
9-+P+P+-+0
9zP-sN-wQN+-0
9-zP-+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

15...e5 Rightfully worried
about White playing e5, Black
creates a hole at f5. 

[15...Qc5 
XIIIIIIIIY
9r+-+-trk+0
9+lvln+pzpp0
9pzpp+psn-+0
9+-wq-+-vL-0
9-+P+P+-+0
9zP-sN-wQN+-0
9-zP-+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

 White's space keeps him a
nice edge.
A) 16.Qxc5 bxc5 
(16...Nxc5? 17.Bxf6! gxf6
18.b4 traps the Knight)
17.Na4 idea Be3 17...Bd8
18.Be3 Be7 

XIIIIIIIIY
9r+-+-trk+0
9+l+nvlpzpp0
9p+p+psn-+0
9+-zp-+-+-0
9N+P+P+-+0
9zP-+-vLN+-0
9-zP-+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

Black's position is kind of
ugly.; 

B) 16.Qd2 b5 

(16...Qxf2?? 17.Be3 Qxg2
18.Rdg1 Qh3 

XIIIIIIIIY
9r+-+-trk+0
9+lvln+pzpp0
9pzpp+psn-+0
9+-+-+-+-0
9-+P+P+-+0
9zP-sN-vLN+q0
9-zP-wQL+-zP0
9+-mK-+-tRR0
xiiiiiiiiy

Black's Queen is in trouble.
19.Rg3 Qh5 20.Ng5 etc.)

17.b4? Qa7 18.c5 a5] 
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Returning to bottom of 2nd

column previous page,

16.Nh4 Qe6

[16...g6 immediately keeps
the Knight offside.  A storm is
brewing against Black's King]

17.Nf5 g6? 18.Nh6+ 
XIIIIIIIIY
9r+-+-trk+0
9+lvln+p+p0
9pzpp+qsnpsN0
9+-+-zp-vL-0
9-+P+P+-+0
9zP-sN-wQ-+-0
9-zP-+LzPPzP0
9+-mKR+-+R0
xiiiiiiiiy

White's attack is serious,
Black's is still being
conceived... 

18...Kh8 19.h3 b5 20.Ng4
Nh5 
XIIIIIIIIY
9r+-+-tr-mk0
9+lvln+p+p0
9p+p+q+p+0
9+p+-zp-vLn0
9-+P+P+N+0
9zP-sN-wQ-+P0
9-zP-+LzPP+0
9+-mKR+-+R0
xiiiiiiiiy

21.Rxd7! 
Attacking the dark squares!

21...Qxd7 22.Nf6 

XIIIIIIIIY
9r+-+-tr-mk0
9+lvlq+p+p0
9p+p+-sNp+0
9+p+-zp-vLn0
9-+P+P+-+0
9zP-sN-wQ-+P0
9-zP-+LzPP+0
9+-mK-+-+R0
xiiiiiiiiy

22...Qd4 the Queen doesn't
have a home 

[22...Nxf6?? 23.Bxf6+ Kg8
24.Qh6 with unstoppable
mate; 

22...Qe6 
A) 23.Bg4 

XIIIIIIIIY
9r+-+-tr-mk0
9+lvl-+p+p0
9p+p+qsNp+0
9+p+-zp-vLn0
9-+P+P+L+0
9zP-sN-wQ-+P0
9-zP-+-zPP+0
9+-mK-+-+R0
xiiiiiiiiy

23...Qxc4 (23...Qd6 24.Rd1)   
  A1) 24.Bxh5? gxh5 25.Nxh5
Bd8! 26.Bxd8 Rfxd8 27.Qh6
(27.Nf6 idea Qh6 when
Qxh7# 27...Kg7 28.Qg5+ Kf8
Black survives) 27...Rg8
28.Nf6 Rg7; 
  A2) 24.Nxh5 24...gxh5
25.Bf6+ Kg8 26.Qg5#; 

B) 23.c5? Nxf6 24.Bxf6+
Qxf6;  

C) 23.Bxh5 23...gxh5
24.Nxh5 Bd8] 

23.Qf3 

XIIIIIIIIY
9r+-+-tr-mk0
9+lvl-+p+p0
9p+p+-sNp+0
9+p+-zp-vLn0
9-+PwqP+-+0
9zP-sN-+Q+P0
9-zP-+LzPP+0
9+-mK-+-+R0
xiiiiiiiiy

23...Nf4 removing the last
defender [23...Nxf6??
24.Qxf6+ Kg8 25.Bh6;
23...Ng7 24.Rd1 Qa7
(24...Qc5 25.Nd7) ] 24.Rd1
Nxe2+ 25.Qxe2 Qxc4
26.Qg4 Kg7 27 Qh4 h5
28.Nd7 Rfe8 29.Bf6+ 
XIIIIIIIIY
9r+-+r+-+0
9+lvlN+pmk-0
9p+p+-vLp+0
9+p+-zp-+p0
9-+q+P+-wQ0
9zP-sN-+-+P0
9-zP-+-zPP+0
9+-mKR+-+-0
xiiiiiiiiy

29...Kh7 30.g4 Bd8 31.gxh5
Bxf6 
XIIIIIIIIY
9r+-+r+-+0
9+l+N+p+k0
9p+p+-vlp+0
9+p+-zp-+P0
9-+q+P+-wQ0
9zP-sN-+-+P0
9-zP-+-zP-+0
9+-mKR+-+-0
xiiiiiiiiy

32.hxg6+ 1–0


